Completing the Square

Name Period: Date:

Directions: Use the information given to solve each problem.

1. Which equation completes the square to create an equation equivalent to x2 — 6x + 7 in the
formof (x —p)2 =q ?

A(x—3)2=7
B.(z+3)2=7
C(z—3)P2=2
D.(z +3)* = -2

2. Which equation completes the square to create an equation equivalent to x2 + 8x + 6 in the
formof (x —p)2 =q ?

A (z+4)2 =10
B.(z —4)? =10
C(z+4)2=22
D.(xz —4)? =22

3. Which equation completes the square to create an equation equivalent to x? — 4x + 5 in the
formof (x —p)2 =¢q ?

A(z—2)2=1
B.(z+2) =1
C(z—2)?=-1
D.(z+2)? = -1

4. Which equation completes the square to create an equation equivalent to x2 + 12x + 20 in the
formof (x —p)2 =¢q ?

A (z+6)* =4
B.(x —6)? =4
C.(z+6)2=16
D.(z —6)> =16
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Completing the Square

Answer Key

Name Period: Date:

Directions: Use the information given to solve each problem.

1. Which equation completes the square to create an equation equivalent to x2 — 6x + 7 in the
formof (x —p)2 =q ?

A(z—-3)2=7
B.(z+3)?=17 C
C(zx—3)2=2
D.(z+3)% = -2

2. Which equation completes the square to create an equation equivalent to x2 + 8x + 6 in the
formof (x —p)2 =q ?

3. Which equation completes the square to create an equation equivalent to x? — 4x + 5 in the
formof (x —p)2 =¢q ?

A(z—2)2=1

B.(z+2)?2=1 C
C(z—2)2=-1

D.(z+2)? =—1

4. Which equation completes the square to create an equation equivalent to x? + 12x + 20 in the
formof (x —p)2 =¢q ?

A (z+6)=4
B. (z — 6)% =4 C

C.(zr+6)2=16
D. (:I: _ 6)2 — 16 Free EOC Prep at Higher-GroundSoftware.com




